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PART A - General

Section Id :
Section Number:
Section type:

Mandatory or Optional :

19088967
1
Online

Mandatory



Number of Questions : 25

Number of Questions to be attempted : 25

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 190889103
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1908892799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct word that can best complete the given sentence:

A well-balanced diet can be a/an for stress.

(1) spirit (2) buffer

(3) antidote (4) medicine
Options :

19088911101. 1
19088911102. 2
19088911103. 3

19088911104. 4

Question Number : 2 Question Id : 1908892800 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

From the choices given below, select the pair which exhibits the same relationship as the one
in capitalized pair of words:

HERBS : MEDICINE
(I)  hooks : knowledge (2) sound:radio

(3)  time:watch (4) juice : orange



Options :

19088911105. 1
19088911106. 2
19088911107. 3
19088911108. 4

Question Number : 3 Question Id : 1908892801 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable synonym:

ADEPT

(1) devious (2) wily

(3) clumsy (4) dexterous
Options:

19088911109. 1
19088911110. 2
19088911111. 3
19088911112. 4

Question Number : 4 Question Id : 1908892802 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the part of the body with which the disease 1s associated:

Hepatitis

(1) gall bladder (2) diaphragm

(3) stomach (4) lver
Options:

19088911113. 1
19088911114. 2
19088911115. 3



19088911116. 4

Question Number : 5 Question Id : 1908892803 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the expression below from the options given:

ex officio
(1) unofficial (2) asaresult of one's status
(3) a retired official (4) make public

Options :

19088911117. 1
19088911118. 2
19088911119. 3

19088911120. 4

Question Number : 6 Question Id : 1908892804 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the underhned word:

Confidence in government hospitals has eroded considerably in the past decade.

(1) gradually destroyed (2) been reimposed
(3) corroded (4) withered
Options :

19088911121. 1
19088911122. 2
19088911123. 3
19088911124. 4

Question Number : 7 Question Id : 1908892805 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Identify the meaning of the phrase below from the options given:

A person who helps others specially those who are poor or in trouble

(1) philhellene (2) philadelphus
(3 philanderer (4) philanthropist
Options :

19088911125. 1
19088911126. 2
19088911127. 3

19088911128. 4

Question Number : 8 Question Id : 1908892806 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the most suitable antonym:

ERRATIC

(1) loose (2) faulty

(3) regular {(4) brave
Options :

19088911129. 1
19088911130. 2
19088911131. 3
19088911132. 4

Question Number : 9 Question Id : 1908892807 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : No Is

: MCQ Option Shuffling : No Is



Identify the meaning of the 1diom from the options given:

A bird's-eye view

(1) without care (2) within the walls
(3) an overall view (4) out of place
Options :

19088911133. 1
19088911134. 2
19088911135. 3

19088911136. 4

Question Number : 10 Question Id : 1908892808 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Select the correct word from the answer:

Farmers know that changing winds rain or drought.

(1) bring (2) create

(3) form (4) present
Options:

19088911137. 1
19088911138. 2
19088911139. 3

19088911140. 4

Question Number : 11 Question Id : 1908892809 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The H.C.F. (Highest Common Factor) of 3556 and 3444 1s :

(1) 23 (2) 25
(3) 26 (4) 28
Options :

19088911141. 1
19088911142. 2
19088911143. 3
19088911144. 4

Question Number : 12 Question Id : 1908892810 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ifa+ b=5and 3a+ 2b =20, then (3a + b) will be :

(1) 10 (2) 15
(3) 20 (4 25
Options :

19088911145. 1
19088911146. 2
19088911147. 3

19088911148. 4

Question Number : 13 Question Id : 1908892811 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sum of a number and its square 1s 182, what 1s the number?

(1) 15 (2) 26
(3) 28 (4) None of these
Options :

19088911149. 1



19088911150. 2
19088911151. 3

19088911152. 4

Question Number : 14 Question Id : 1908892812 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

88% of 370 + 24% of 210 -7 =118

(1) 256 (2) 258
(3) 268 (4) 358
Options :

19088911153. 1
19088911154. 2
19088911155. 3
19088911156. 4

Question Number : 15 Question Id : 1908892813 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative based on relationship:

Tractor : Trailer : : Horse : ?

(1) Stable (2) Cart
(3) Saddle (4) Engine
Options :

19088911157. 1
19088911158. 2
19088911159. 3

19088911160. 4



Question Number : 16 Question Id : 1908892814 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the word which 1s least like the other words in the group:

(1) Geometry (2) Algebra
(3) Trigonometry (4) Mathematics
Options :

19088911161. 1
19088911162. 2
19088911163. 3

19088911164. 4

Question Number : 17 Question Id : 1908892815 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the number which 1= different from others in the group.

(1) 8314 (2) 2709
(3) 1315 (4) 2518
Options :

19088911165. 1
19088911166. 2
19088911167. 3

19088911168. 4

Question Number : 18 Question Id : 1908892816 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If PALE 1s coded as 2134, EARTH 1s coded as 41590, how 1s PEARL coded 1n that code?

(1) 29530 (2) 24153
(3) 25413 (4) 25430
Options :

19088911169. 1
19088911170. 2
19088911171. 3

19088911172. 4

Question Number : 19 Question Id : 1908892817 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rahul told Anand. Yesterday I defeated the only brother of the daughter of my
grandmother.” Whom did Rahul defeat?

(1) Son (2) Father
(3)  Brother (4) Father-in-law
Options :

19088911173. 1
19088911174. 2
19088911175. 3

19088911176. 4

Question Number : 20 Question Id : 1908892818 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the given words 1n alphabetical order and choose the one that comes first.

(1) Science (2) Serutiny
(3) Seripture (4) Seramble

Options:



19088911177. 1
19088911178. 2
19088911179. 3

19088911180. 4

Question Number : 21 Question Id : 1908892819 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Atul finds that he 1s twelfth from the right in a line of boys and fourth from the left, how

many boys should be added to the line such that there are 28 boys in the line?

1 12 (2) 13
3 14 (4) 20
Options :

19088911181. 1
19088911182. 2
19088911183. 3

19088911184. 4

Question Number : 22 Question Id : 1908892820 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The India Energy Outlook 2021 1s a new special report from the

(1) NITI Aavog
(4] Ministry of Power
(3) International Energy Agency

(4) Ministry of New and Renewable Energy

Options:
19088911185. 1
19088911186. 2

19088911187. 3



19088911188. 4

Question Number : 23 Question Id : 1908892821 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who among the following wrote the famous book titled "We the people'?

(1) T. N. Seshan (2) KiranBed
(3) Nanabhoy Palkhivala (4) Khushwant Singh
Options :

19088911189. 1
19088911190. 2
19088911191. 3

19088911192. 4

Question Number : 24 Question Id : 1908892822 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of following committees 1s related to Personal Data Protection™

(1) B. N. Srikrishna Committee (2) C.Rangarajan Committee
(3) Bimal Jalan Committee (4) Bhurelal Committee
Options :

19088911193. 1
19088911194. 2
19088911195. 3

19088911196. 4

Question Number : 25 Question Id : 1908892823 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(Galathea National Park 1= located in

(1) Andaman and Nicobar (2) Lakshadweep
(3) Coromandel Coast (4) Konkan Coast
Options :

19088911197. 1
19088911198. 2
19088911199. 3

19088911200. 4

PART B - GERMAN STUDIES

Section Id : 19088968
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 190889104
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 1908892824 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Kinder freuen =sich die Sommerferien.

(1) auf (2) far
(3) an (4) um
Options :

19088911201. 1
19088911202. 2
19088911203. 3

19088911204. 4

Question Number : 27 Question Id : 1908892825 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Der Mitarbeiter beschwert sich dem Chef.

(1) mit (2) beil
(3) fur (4) tiber
Options :

19088911205. 1
19088911206. 2
19088911207. 3
19088911208. 4

Question Number : 28 Question Id : 1908892826 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Er entschliet sich elnem Studium.

(1) fir (2) zu
(3) um (4) auf
Options :

19088911209. 1

19088911210. 2



19088911211. 3
19088911212. 4

Question Number : 29 Question Id : 1908892827 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Dein Vater hat jetzt keine Zeit. Er kann dir jetzt micht bei deiner Hausaufeaben helfen.

Aber wenn er Zeit ) er dir dabel helfen.

(1) hitte, wirde (2) hatte, wurde

(3) habt, war (4) hat, seid
Options :

19088911213. 1
19088911214. 2
19088911215. 3
19088911216. 4

Question Number : 30 Question Id : 1908892828 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Silke muss arbeiten. Deshalb fahrt sie nicht mit.

Aber wenn Silke nicht arbeiten ) sie mitfahren.

(1) miisste., wirde (2) missten. wirden

(3) musste, wurde (4) muss, war
Options :

19088911217. 1
19088911218. 2
19088911219. 3

19088911220. 4



Question Number : 31 Question Id : 1908892829 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Die Briicke 1st zerstort. Deshalb schwimmen wir iiber den Fluss.

Aber wenn sie nicht zerstort , wir nicht iiber den Fluss schwimmen.
(1) waren. wirden (2) wére, wiirden
(3) war, wurde (4) waire, wurden

Options :

19088911221. 1
19088911222. 2
19088911223. 3

19088911224. 4

Question Number : 32 Question Id : 1908892830 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wir die Hotelrechnung beglichen haben. reisen wir ab.

(1) Wahrend (2) Bevor
(3) Sobald (4) Solange
Options :

19088911225. 1
19088911226. 2
19088911227. 3

19088911228. 4

Question Number : 33 Question Id : 1908892831 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wir das Haus aufrdumten. bereitete Hans das Essen.

(1) Sowie (2) Wiahrend
(3) Bis (4) Als
Options :

19088911229. 1
19088911230. 2
19088911231. 3

19088911232. 4

Question Number : 34 Question Id : 1908892832 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Albert Einsteln emigrierte in die USA, Hitler an die Macht kam.
(1) als (2) mnachdem
(3) wenn (4) wihrend

Options:

19088911233. 1
19088911234. 2
19088911235. 3

19088911236. 4

Question Number : 35 Question Id : 1908892833 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Er in Zukunft mehr arbeiten.

(1) werde (2) werden

(3) wurde (4) wurden
Options :

19088911237. 1
19088911238. 2



19088911239. 3

19088911240. 4

Question Number : 36 Question Id : 1908892834 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wie viele Kommas fehlen 1m nachfolgenden Satz?

“Die Wihler miissen sich entweder fiir oder gegen den Kandidaten entscheiden.”

(1) 2 (2) 1
3 3 4 0
Options :

19088911241. 1
19088911242. 2
19088911243. 3

19088911244. 4

Question Number : 37 Question Id : 1908892835 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

JArno grillt im Garten seines Ferlienhauses.” Welcher der vier Falle- Nomimativ, Gemitiv.
Dativ, Akkusativ — kommt in diesem Satz nicht vor?

(1) Nominativ (2) Genitiv
(3)  Dativ (4) Akkusativ
Options :

19088911245. 1
19088911246. 2
19088911247. 3

19088911248. 4

Question Number : 38 Question Id : 1908892836 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welches der nachfolgenden Beispiele 1st keine Konjunktion?

(1) denn (2) weill
(3) tatsdchlich (4) sondern
Options:

19088911249. 1
19088911250. 2
19088911251. 3
19088911252. 4

Question Number : 39 Question Id : 1908892837 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sie sich sehr iiber eine Antwort auf ihr Schreiben freuen.

(1) wiirde (2) war

(3) waret (4) wurde
Options :

19088911253. 1
19088911254. 2
19088911255. 3
19088911256. 4

Question Number : 40 Question Id : 1908892838 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wir kamen zu spit. Der Tisch war bereits vergeben.
(1) rezervierende (2) reservierendes
(3) reservierte (4) reservierter

Options :



19088911257. 1
19088911258. 2
19088911259. 3

19088911260. 4

Question Number : 41 Question Id : 1908892839 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wollte der Bettlerin. die in der FuBgingerzone sall. etwas geben.

(1) Niemals (2) Niemand
(3) Nichts (4) Nirgendwo
Options :

19088911261. 1
19088911262. 2
19088911263. 3

19088911264. 4

Question Number : 42 Question Id : 1908892840 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Das Geschaft gestern nicht

(1) sein - gedffnet (2) war - gedffnet
(3) 1st - gediffnen (4) sein — offnen
Options :

19088911265. 1
19088911266. 2
19088911267. 3

19088911268. 4



Question Number : 43 Question Id : 1908892841 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. wire es ein groller Erfolg.

(1) Wenn Amelie eréffnen wiirde ein Restaurant

(2) Wenn ein Restaurant erdffnen wiirde Amelie

(3) Wenn Amelie ein Restaurant eriffnen wiirde

(4) Wenn Amelie wiirde erdffnen ein Restaurant
Options :

19088911269. 1
19088911270. 2
19088911271. 3
19088911272. 4

Question Number : 44 Question Id : 1908892842 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ein narzisstischer Mensch

(1) liebt sich selbst in {ibersteigertem Malie
(2) 1st allergisch gegen Bliitenstaub

(3) 1st itbertrieben forsch

(4) 1st sehr begabt

Options :

19088911273. 1
19088911274. 2
19088911275. 3

19088911276. 4

Question Number : 45 Question Id : 1908892843 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Welche Schreibweise 1st die richtige?

(1) retlerend (2) 1rrtierend
(3) ritierend (4) 1retiernd
Options:

19088911277. 1
19088911278. 2
19088911279. 3

19088911280. 4

Question Number : 46 Question Id : 1908892844 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Der Chirurg priift seine

(1) Instrumente (2) (Gerite
(3) Apparate (4) Maschinen
Options :

19088911281. 1
19088911282. 2
19088911283. 3

19088911284. 4

Question Number : 47 Question Id : 1908892845 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sein Rasier- 1st entzwel.

(1) -zerit (2) -apparat
(3) nstrument (4) -maschine
Options :

19088911285. 1
19088911286. 2

19088911287. 3



19088911288. 4

Question Number : 48 Question Id : 1908892846 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wartest du? — Ich warte auf Bus.
(1) Worauf: dem (2) Woriiber: den
(3) Worauf:; den (4) Woran; den
Options :

19088911289. 1
19088911290. 2
19088911291. 3
19088911292. 4

Question Number : 49 Question Id : 1908892847 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Viele Fliige wurden Wetterbedingungen abgesagt.

(1) wegen; schlechter (2) statt: schlechter

(3) obwohl; schlechten (4) fiir; schlechtes
Options :

19088911293. 1
19088911294. 2
19088911295. 3

19088911296. 4

Question Number : 50 Question Id : 1908892848 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



mehr ich esse. dicker werde 1ch.

(1) Als: wie (2) Je: desto
(3) Weder: noch (4) Zwar; aber
Options:

19088911297. 1
19088911298. 2
19088911299. 3

19088911300. 4

Question Number : 51 Question Id : 1908892849 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welcher Satz 1st richtig?

(1) Er murmelte seinem Freund etwas ins Ohr.

(2) Er plapperte seinem Freund etwas ins Ohr.

(3) Er fliisterte seinem Freund etwas ins Ohr.

(4) Er knurrte seinem Freund etwas 1ins Ohr.
Options :

19088911301. 1
19088911302. 2
19088911303. 3

19088911304. 4

Question Number : 52 Question Id : 1908892850 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

selnen Freund geht er Kino.
(1) Mit; ins (2) Ohne; ins
(3) Von: im (4) Aus:zu
Options:

19088911305. 1



19088911306. 2
19088911307. 3

19088911308. 4

Question Number : 53 Question Id : 1908892851 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Du bist schlecht , wenn du deinem Arzt nicht . was du fiir Beschwerden
hast.

(1)  erraten; raten (2) beraten; verritst

(3) raten; erraten (4) verraten: beraten

Options:

19088911309. 1
19088911310. 2
19088911311. 3

19088911312. 4

Question Number : 54 Question Id : 1908892852 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gelge und Klavier sind :

(1) Musikinstrumente (2) Edelsteine
(3 Messgerite (4) Bestecke
Options :

19088911313. 1
19088911314. 2
19088911315. 3

19088911316. 4

Question Number : 55 Question Id : 1908892853 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welche Kombination der Gegenteile 1st falsch?

(1) Freundschaft: Feindschaft (2) Liebe: Hass
(3 Zuneigung: Abneigung (4) Schluss: Ende
Options :

19088911317. 1
19088911318. 2
19088911319. 3

19088911320. 4

Question Number : 56 Question Id : 1908892854 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Die BRD hat Bundeslédnder.

1 15 2 16
(3) 17 (4) 20
Options :

19088911321. 1
19088911322. 2
19088911323. 3

19088911324. 4

Question Number : 57 Question Id : 1908892855 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Die BRD wurde am Mai. 1949 gegriindet.
(1) 24 ) 24
(3) 25 (4) 20

Options:



19088911325. 1
19088911326. 2
19088911327. 3

19088911328. 4

Question Number : 58 Question Id : 1908892856 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Am 9. November wurde Deutschland wiedervereinigt.

(1) 1990 (2) 1989

(3) 1999 (4) 1889
Options :

19088911329. 1
19088911330. 2
19088911331. 3
19088911332. 4

Question Number : 59 Question Id : 1908892857 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

hat die héchste Auflage in Deutschland.

(1) Bild (2) Siiddeutsche Zeitung
(3) Frankfurter Allgemeine Zeitung (4) Frankfurter Rundschau
Options :

19088911333. 1
19088911334. 2
19088911335. 3

19088911336. 4

Question Number : 60 Question Id : 1908892858 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Der Bundeskanzler oder die Bundeskanzlerin wird von gewihlt.
(1) Dem Bundesrat (2) Dem Volk

(3) Dem Bundestag (4) Dem Landesrat
Options:

19088911337. 1
19088911338. 2
19088911339. 3
19088911340. 4

Question Number : 61 Question Id : 1908892859 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Auf welcher Konferenz vereinbarten die Allnerten die Teillung Deutschlands in vier
Besatzungszonen nach dem Zweiten Weltkrieg.

(1) Jalta Konferenz (2) Bonner Konferenz
(3)  Potsdamer Konferenz (4) Frankfurter Konferenz
Options :

19088911341. 1
19088911342. 2
19088911343. 3
19088911344. 4

Question Number : 62 Question Id : 1908892860 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wie nennt man ein Biindnis verschiedener Partelen. um eine stabile Regierung zu bilden?

(1)  Koalition (2) Fraktion
(3)  Opposition (4) Kodifikation



Options :

19088911345. 1
19088911346. 2
19088911347. 3
19088911348. 4

Question Number : 63 Question Id : 1908892861 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wer war der Verteidigungsmimster der BRD wihrend des politischen Skandals “Spiegel-
Affire?"

(1)  Franz Josef Strauss (2) Konrad Adenauer
(3)  Frank Adler (4) Erc Honecker
Options :

19088911349. 1
19088911350. 2
19088911351. 3

19088911352. 4

Question Number : 64 Question Id : 1908892862 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welche der folgenden gehért nicht zu den Tellgewalten eines Rechtsstaats?

(1) Legislative (2) Exekutive
(3) Direktive (4) Judikative
Options :

19088911353. 1
19088911354. 2
19088911355. 3

19088911356. 4



Question Number : 65 Question Id : 1908892863 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wirtschaftswunder ereignete sich wihrend der Kanzlerschaft von

(1) Konrad Adenauer (2) Helmut Kohl
(3) Kurt Georg Kiesinger (4) Willy Brandt
Options :

19088911357. 1
19088911358. 2
19088911359. 3

19088911360. 4

Question Number : 66 Question Id : 1908892864 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welches Land grenzt nicht an Deutschland?

(1) Tschechische Republhik (2) Niederlande
(3) Osterreich (4) Spanien
Options :

19088911361. 1
19088911362. 2
19088911363. 3

19088911364. 4

Question Number : 67 Question Id : 1908892865 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Wie heisst die Hauptstadt von Nordrhein-Westfalen?

(1) Diisseldorf (2) Mainz
(3) Wiesbaden (4) Hannover
Options :

19088911365. 1
19088911366. 2
19088911367. 3

19088911368. 4

Question Number : 68 Question Id : 1908892866 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welche Stadt 1st in den Jahren der Tellung kultureller Mittelpunkt gewesen?

(1) Berlin (2) Bremen
(3) Bonn (4) Bochum
Options :

19088911369. 1
19088911370. 2
19088911371. 3

19088911372. 4

Question Number : 69 Question Id : 1908892867 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Welcher der folgenden Flilsse entspringt in Furtwangen im Schwarzwald?

(1) Rhein (2) Mosel
(3) Donau (4) Oder
Options :

19088911373. 1

19088911374. 2



19088911375. 3
19088911376. 4

Question Number : 70 Question Id : 1908892868 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Das Lieblingsgetrink der Deutschen 1st

(1) Whiskey (2) Wein
(3) Wodka (4) Bier
Options :

19088911377. 1
19088911378. 2
19088911379. 3

19088911380. 4

Question Number : 71 Question Id : 1908892869 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : No Is

: MCQ Option Shuffling : No Is

Um das Original zu verstehen soll man den lesen.

(1) Paralleltext (2) Hintergrundtext

(3) Zieltext (4) Ausgangstext
Options :

19088911381. 1
19088911382. 2
19088911383. 3

19088911384. 4

Question Number : 72 Question Id : 1908892870 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : No Is



Der Hintergrundtext soll man in lesen.

(1) Sprache. die man flieffend lesen und verstehen kann
(2) Ausgangssprache
(3) Fremdsprache
(4) Zielsprache
Options :
19088911385. 1
19088911386. 2
19088911387. 3

19088911388. 4

Question Number : 73 Question Id : 1908892871 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Die Ausgangssprache 1st die Sprache

(1) des Ausgangstextes (2) des Hintergrundtextes
(3) des Zieltextes (4) des Paralleltextes
Options:

19088911389. 1
19088911390. 2
19088911391. 3
19088911392. 4

Question Number : 74 Question Id : 1908892872 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Fachwirterbuch 1st ein Beispiel fiir

(1) Hintergrundtext (2) Paralleltext
(3) Zieltext (4) Ausgangstext

Options :



19088911393. 1
19088911394. 2
19088911395. 3

19088911396. 4

Question Number : 75 Question Id : 1908892873 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Das Original 1st

(1) der Paralleltext (2) der Zieltext
(3) der Ausgangstext (4) der Hintergrundtext
Options :

19088911397. 1
19088911398. 2
19088911399. 3

19088911400. 4

Question Number : 76 Question Id : 1908892874 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wahlen Sie die richtige Ubersetzung fiir das durch Fettdruck hervorgehobenen Wort aus.

The gathering was a chance for the opposition leader to PRESS THE FLESH with important
players of our world.

(1)  Hénde schiitteln (2) Hinde desinfizieren
(3)  Hinde waschen (4) Hinde schwitzen
Options :

19088911401. 1
19088911402. 2
19088911403. 3

19088911404. 4



Question Number : 77 Question Id : 1908892875 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wihlen Sie die richtige Ubersetzung fiir das durch Fettdruck hervorgehobenen Wort aus.

Ich bin nach einer UNTERBRECHUNG von zwel Wochen zuriick.

(1)  Hole (2) Hiatus
(3)  Laft (4) Gap
Options :

19088911405. 1
19088911406. 2
19088911407. 3

19088911408. 4

Question Number : 78 Question Id : 1908892876 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wihlen Sie die richtige Ubersetzung fir das durch Fettdruck hervorgehobenen Wort aus.

Die Lokale i1n Wien bieten warme Kiiche auch NACH MITTERNACHT an.

(1) Small hours (2) Happy hours
(3)  Midnight (4) Late hours
Options :

19088911409. 1
19088911410. 2
19088911411. 3

19088911412. 4

Question Number : 79 Question Id : 1908892877 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Wihlen Sie die richtige Ubersetzung fitr das durch Fettdruck hervorgehobenen Wort aus.

Auf der Biihne soll man sehr viel IMPROVISIEREN.

(1)  Recreate (2) Wingit
(3)  Imagine (4) Act
Options :

19088911413. 1
19088911414. 2
19088911415. 3

19088911416. 4

Question Number : 80 Question Id : 1908892878 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Wihlen Sie die richtige Ubersetzung fiir das durch Fettdruck hervorgehobenen Wort aus.

Wir kénnen unsere dkonomische Probleme BIS ZUM SANKT-NIMMERLEINS-TAG
diskutieren. Aber eine Lésung 1st fast unméglich.

(1)  Until the cows come home (2) Till mdmeht
(3)  Throughout the night (4) Till early hours
Options:

19088911417. 1
19088911418. 2
19088911419. 3
19088911420. 4

Question Number : 81 Question Id : 1908892879 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welcher Dramatiker prigte den Begriff des epischen Theaters?

(1) Bertolt Brecht (2) Peter Weizs
(3) Max Frisch (4) Friedrich Dirrenmatt



Options :

19088911421. 1

19088911422. 2

19088911423. 3

19088911424. 4

Question Number : 82 Question Id : 1908892880 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welches der foleenden Werke gehért nicht zu Heinrich B&l1?

(1)
(2)
(3)
(4)

Die verlorene Ehre der Katherina Blum
Anekdote zur Senkung der Arbeitsmoral
Billarde um halb zehn

Effie Briest

Options :

19088911425. 1

19088911426. 2

19088911427. 3

19088911428. 4

: MCQ Option Shuffling : No Is

Question Number : 83 Question Id : 1908892881 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welches der foleenden Werke gehort nicht zu Friedrich Dirrenmatt?

(1)
(3)

Options :

19088911429. 1

19088911430. 2

19088911431. 3

19088911432. 4

Der Besuch der alten Dame (2) Das Versprechen
Die Physiker (4) Stiller



Question Number : 84 Question Id : 1908892882 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Kommissar Beizmenne, Dr. Hubert Blorna, Werner Tétges & Ludwig Gétten sind die
Figuren aus

(1)  “Unter Mérdern und Irren” (2) '"Das Parfiim”
(3)  “Der Prozess” (4) *Die verlorene Ehre der Katherina Blum”
Options :

19088911433. 1
19088911434. 2
19088911435. 3

19088911436. 4

Question Number : 85 Question Id : 1908892883 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Welche der folgenden literarischen Textformen gehért nicht zur Gattung “Lyrik™?

(1) Legende (2) Sonett
(3) Ballade (4) Elegie
Options:

19088911437. 1
19088911438. 2
19088911439. 3
19088911440. 4

Question Number : 86 Question Id : 1908892884 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



“Es war einmal...” 1st elne typische Einleitungsphrase fiir

(1) eine Kurzgeschichte (2) ein Drama
(3) ein Sachgedicht (4) ein MiArchen
Options :

19088911441. 1
19088911442. 2
19088911443. 3

19088911444. 4

Question Number : 87 Question Id : 1908892885 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wer gehért nicht zu den Vertretern des Dokumentartheater?

(1) Peter Weiss (2) Anna Seghers
(3) Rolf Hochhuth (4) Heinar Kipphardt
Options :

19088911445. 1
19088911446. 2
19088911447. 3

19088911448. 4

Question Number : 88 Question Id : 1908892886 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Der Protagonist in Kafkas “Die Verwandlung” verwandelt sich

(1) in eine Pflanze (2) 1n ein Teufel
(3) 1n einen Vogel (4) 1n einen Kifer
Options :

19088911449. 1
19088911450. 2



19088911451. 3

19088911452. 4

Question Number : 89 Question Id : 1908892887 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Am Schluss des Stiicks “die Rduber”

(1)  tétet Karl seine Verlobte und bringt sich anschliessend selbst um
(2)  heiratet Karl Amalia und herrscht auf dem Schloszs seines Vaters
(3)  totet Karl seine Verlobte und stellt sich der Justiz

(4)  hewratet Karl Amalia, sie fithren nun gemeinsam ein Réuberleben mit threr Bande
Options :
19088911453. 1
19088911454, 2
19088911455. 3
19088911456. 4

Question Number : 90 Question Id : 1908892888 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Froschkéng 1st

(1) ein Roman (2) ein Gedicht

(3) ein Marchen (4) eine Legende
Options :

19088911457. 1
19088911458. 2
19088911459. 3

19088911460. 4

Question Number : 91 Question Id : 1908892889 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Explosive oder Verschlusslaute sind

(1) |bl. 1dl. |g] (2) |m]. [n]. |n]
(3) le1]. |au]. |eu] (4) lal. lel. 1] |o]. |u]
Options :

19088911461. 1
19088911462. 2
19088911463. 3
19088911464. 4

Question Number : 92 Question Id : 1908892890 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Morpheme sind die

(1) kleinsten Einheiten des Sprachsystems mit bedeutungsunterscheidender Funktion.
2 kleinsten sprachlichen Einheiten mit bedeutungstragender Funktion.

(3
(

4)  die Laute. bel denen die Luft praktisch ungehemmt ausstrémt

Phoneminventare fiir Sprachen.

Options :

19088911465. 1
19088911466. 2
19088911467. 3

19088911468. 4

Question Number : 93 Question Id : 1908892891 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Die phonetischen Varianten eines Phonems sind

(1) Allomorphe (2) Diphthonge
(3) Allophone (4) Piktogramme



Options :

19088911469. 1
19088911470. 2
19088911471. 3
19088911472. 4

Question Number : 94 Question Id : 1908892892 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In dem Wort ‘fahren’ gibt es

(1) einen langen Vokal und einen kurzen Vokal
(2) zwel lange Vokale

(3) zwel kurze Vokale

(4) keinen langenVokal
Options :
19088911473. 1
19088911474. 2
19088911475. 3

19088911476. 4

Question Number : 95 Question Id : 1908892893 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Die Nasale sind

(1) |m|. |nl, Inl] (2) leil. |au], |eu]
(3) Ibl. [d]. |gl (4) lal. lel. |1l. lol, |ul
Options :

19088911477. 1
19088911478. 2
19088911479. 3

19088911480. 4



Question Number : 96 Question Id : 1908892894 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Die Untersuchung der Bestandteile von Wortern 1st

(1) Phonologie (2) Morphologie
(3) Syntax (4) Semantik
Options :

19088911481. 1
19088911482. 2
19088911483. 3

19088911484. 4

Question Number : 97 Question Id : 1908892895 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Frei1 Morpheme kénnen

(D nicht allein verwendet werden (2) allein verwendet werden
(3) keine Bedeutung haben. (4) nicht definiert werden
Options:

19088911485. 1
19088911486. 2
19088911487. 3

19088911488. 4

Question Number : 98 Question Id : 1908892896 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Affixe, die sich vor dem Stamm héngen. nennt man

(1) Suffixe (2) Infixe
(3) Zirkumflex (4) Prafixe
Options :

19088911489. 1
19088911490. 2
19088911491. 3
19088911492. 4

Question Number : 99 Question Id : 1908892897 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Wie viele Tempora gibt es im Deutschen?

(1) vier (2) fanf
(3) dre1 (4) sechs
Options :

19088911493. 1
19088911494. 2
19088911495. 3

19088911496. 4

Question Number : 100 Question Id : 1908892898 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ein Dialekt 1st

(1) eine lokale oder regionale Sprachvaretit
(2) eine Standardsprache

(3) eine Hauptsprache

(4) eine kiinstliche Sprache

Options :

19088911497. 1



19088911498. 2
19088911499. 3

19088911500. 4



